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Remember that NOTA means None of the Above.

1. The equation y° =3%> + x" is symmetric about

a) the x-axis b) the y-axis
¢) the origin d) There is nio symrmetry
e} NOTA

2. How many real values of x satisfy theequition =

tan[Arctan x + Arctanx” = x?

2)0 )1 ¢)2 d)Norealsolns. ~ E) NOTA

3 If 0<x<mand 2P0% = gSX  Which value of
cos(x) makes the
eguation true?

a)% b)}— c)-;_- d)% &} NOTA

4, Suppose x+ y = 1317(‘!}?2%)7 =4, tbézzﬁr}d
X+, ' .

3

92 b4 c)% d)8 ) NOTA

-3+ 4i, If2 > 0, find the ordered pair (a, b).

a(L2) b@I1) (13 431 eNOTA

6. Soive fbr 311 real vzfue(s ) of x:

i-t—zéicgw x?

2)2 BID 100 d);zoa &) NOTA

7. Solve: |5x-2<6

a} X(-a?u,x>§: b)x<';§~
")"’;“%_ cﬂ:‘_}(x«dg e} NOTA

8. If the fractioni

- 1)(x"+x 4) - Is resolved into

partial fractions, there will be two constant tertis
in the new ntimerators. What is the sum of those
constant terms?

2P0 b1 92 D4 &/ NOTA

9. One bag contains 3 white and 2 black balls, A
2 bag contains 2 white and 3 black balls. A ball is
drawn from the 2 bag and placed in the I bag.

- Then a ball is drawn from the 1" bag and placed

into 2 bag. When the pair of operations is

5. The complex mumber a + bi, when squared, gives < -+ repeated, what is the probability that the 1 bag

will contain 5 white balls?
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10. The cable of a Sﬂspé‘m‘?ﬂ bridge has supporting

towers that are 50 feer high and 400 feet apart. If
- the Jowest point of the cable is 10 feet above the
Aloor of the bridge, find the height of a supporting
rod 100 feet from the center of the span (in feet).
The cable lies on a parabolic curve,

@10 BI5 0 d)25 e NOTA

~ 11. Given the equation of the hyperbol

9x* ~4y? ~36x+32y +8=0. Findthelengthof

the latus rectum,

PRI L

hid e) NOTA
3 3 e

12, The following parametric equations represent
the graph of an ellipse. cos9 :-g- and sinB:{_—
Find the length of the minor axis of this ellipse.
a)3 b4

J6 &8 e NOTA

13 A 10-inch radius Jawn roller thakes' ]2 <t ei e

revolutions per second. Find the exact anguldr =
speed of the roller in radians per second.

a) 127

B24n J48% d6n eNOTA

/ﬁ@efeﬁw

14 Using the same Iawn roller as as in the previous
problem, find the linéar speed of the tractor pislling

it {ro the nearest tentb) i inches per second.

4) 377 B)754 &) 508 d) 1885 '¢)NOTA -

15, Uking the é‘bﬂawi};gﬁswtéméﬁtc, and if a true
statement = { and a false statement = 0, find the
sum of the trues.and ﬁises of these s1aremments,

1 log, & =32 2 o 22
£

3 In(x+-y)"~'*'lnx+1n ¥y 4 In(x+p)=Tn(xp) --

5 iogm( ] 1~ logm

Jl B2 o3 -@4 &) NOTA

16. Find the component form of a vector t}za.i; N
represents the velocity of an airplane descending &t

a speed of 100 mph aran angle of 30 degrees below
the Izonzanzal ;

) {-5043, mso) b) {--50 5043 )

©){~100V3.-100) ) {~100,-100J3)
&) NOTA -
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17. Given the equation of the ellipse 2x° + y* =7,
find the sum of the Jengths 6f the major and piinor
axes.

a) 247
d) 414

b) 2414
e} NOTA

c) 47

18, Which of the following best represents the
graph of the equation x* +4x~7y* + 70y =171 7

a)ellipse  b) parabola ) hyperbola
d) degenerate conic ¢} NOTA

19. The frog ﬁbpﬂat}a}z mapoudgmws continuously

and exponentially. The current population is 198 frogs,
and the annual growth constant is0.16. Find

the number of years needed for the frog population

to reach 500 (to the nearest hundredch).

a)322 B)579 )68 )72 e NOTA

20. Given that u=3i + Zj and v = -Zj,
Find the sum of [v|+|u+v]. - |

93 b5 97 49 eNOTA

s ":.1:‘,:3_'.&_3_' “é
2 8 2 8

ﬁ . 3”7/'0/0/ (eter |

21. Solvé completely: —E5;
T x-17T

& x>l Bx<3 )x>?

Dx>> GNOTA

22. On a tiny remote island, where the death
penalty still éxists, a person can be granted mercy
after receiving a death sentenice i the following
way: Heis given 18 white balls and 6 black balls,
-He must divide them among 3 boxes with at least
one ball in each box. Then blindfolded he musr
choose a box at random, and then choose a ball :
from within this box. He arranges the balls inthe
boxes in order to maximize his ehatices 6f getting
mercy: He receives mercy only if the chosen ball s
white. The pmbaﬁiﬁgy-ofﬁré:ﬂaiz?ec*eiﬁﬁg-mergf
is _ o

y 11 &) NOTA

2 73 Y4 “Yh

23, For éll real values of x for which the terms are .
defined, cét-?l-x-totxz_ . Sinky i, The
4 (sin x)(sinx)

¢ — di= 3 A .
. c} i 4 7 &) NOTA ,.
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24, A cettain substance doubles its volume w&;‘v 2

minute. At 9 AM a small amount is placed in a

‘container and at 10 AM the container just fills. The =~

- time at which the container was % filll was

&) OI5AM
d) 950 AM

b) 930 AM
&} NOTA

) 945 AM

25. Duringa particilar momuzg, 2 iz,;rbrsxgm} goas
on 4t precisely 9 AM, After that it goes on ahd off

atequal intervals, each lasting a whole number of

mimutes, Later that inorning it is observed that the

- light Is off at 9:09, on at '9:17 and on at 9:58. The
light will be on during that morning at both

G 1030 & 11:21 ) 10:14 & 11:00 |
) 1023& 11:01  d)10:25& 11:33 &) NOTA

26, During a series of challenge races between Mus.
 Doker and her eldest son Jeff, each swam 2 laps of a

regular swimming pool. It was observed when Jeff o

- swam faster than his mother over the 24 Jap, his
mother actually had Jed at the end of the I* dap.
When jeff had led at the end of the 1< Jap, his

‘mother actually swam faster than him in the 24 Jap.

There were 9 races in which jeff swam faster than

his mother on at Jeast one lap. Mrs. Doker swam a -

taster time than Jeff on 7 first laps and 6 second
aps. The minimum number of such challenge races
was

a9 bHi0 o 11

d)12 e NOTA

. e) NOTA

Ml et

27, In bowmany dzﬁémm wayscan a careless

. office worker placed Jetters in 4 envelopes so thir N

1m0 vne gets the tight fetter?
94 B9 92| dI5 GNOTA -

| 28 Solve forall real x: 2% 4% _5eb =,

glnSonly B)Infonly JIni&lr5
d)nullset &) NOTA

29, Using the grapb oftbe finction F(x)= ’;1"‘ 13

Find the sury of the x-in temepts and y-intercepts

of every asymptote that is horizontal or vertical

80 :'_5)1’ t‘)? d)4 e)mm |

30. A certain pamboia passes thru the points (5,
1} and (13, -7) and has the y-axis as its directrix

What are the coordinates of all points at which the ‘

vertex of tbispmﬁoia could be Jocated?

DY D&Y b)ﬁ 5)&(0 -2
D%, -2 &, -z) a)@_s)&(;é -2)

3,






